TENGEN == XEBS
RL1 & %2 he IS T 25

1 EREE

RL1 R 548 e AT 2858 Fl F3557%50Hz, SIERIEZE380V, SEBiRE200AN T BESEEN
FErig & eI AR RN Z Ao
#FEFrAE: GB13539.3, IEC60269-3,

RL 1 - [0/ 0O
T ; R R ER R R iR
T 2R B E PR
&itFES
3 EFITERERZEEG

3.1 IREIRE: A#BiZ40T, 24hMEMFEHEREBITIST, —ERNSHTEHERTZE, AR
FEBREREEN-5 T,

3.2 k. Fi#BF2000m,

3.3 KRE&MH: =SET4H, EHEMEEERS HI0CHRIEBIT50%; ERIRBEETANER
SHEINEE, fli0: F20CT, HITHEERINIEI0%; EXELEGT, AFERETWK, P%E
KRBT BARE &,

3.4 THER. 3R,

3.5 ZHEEH: %K,

3.6 MRFEAKEGSLEARRE, E5HERHE,

4 FEEARSHY

41 SRS (IREE) B8

T B FEH RF (o)

E () i (A) €
RL1-15 380 15 63+ 1.4 39+ 2 62+2.4 | 2840.8 | 244+0.8 593
RL1-60 380 60 78424 | 5524 | T7£2.4 | 40%£1.0 | 34%1.0 6795
RL1-100 380 100 118 4£2.8 | 82+£2.8 | 104 £3.4 | 54+1.2 | 46+1.2 895
RL1-200 380 200 156 &2 106 +2 | 115+£2.5| 63+1.5 | 63+1.5 | 10+0.5

R~F Com ) 5 4y W7
HUE HIA (A cos @
¢ Ae77 (kA)
RL1-15 380 2, 4, 6, 8, 10, 15 32 17 - 50 0.1-0.2
RL1-60 380 20, 25, 30, 35, 40, 50, 60 48.5 27 - 50 0.1-0.2
RL1-100 380 60, 80, 100 58 34 6 50 0.1-0.2

RL1-200 380 100, 125, 150, 200 52 52 6 50 0.1-0.2




X IELR, TN—IEFIFREE I

RL1 R %52 5E X A i 25

ST AR E L (A 10 15 20 25 32 50 60 80 100 | 200
FEWAFERTIR (D . 2.6 | 228 | 3.3 | 40| 52 |65 | 7.0 80| 9.0 |13.6
E: ANEIT IS L. 2052 RV
5 SMERZERST
RL1 R 5l EEE
| E
L M
([
N -
] ™ A
p a
§
< Q -_-%
1 _ﬂ | —
N
Y | % E
B
RL1 R FIHSET &
Qa — | ]
. ]
a C

6 ITEA

6.1 ITHRTLAIER:

6.1.1 IEH AR IS A= RS | BIERR. HE,

6.1.2 [REERTHEFABIS MG, ERARREE. 1TEHE,

6.2 ITERAI:

HMRL1-60/60A 1002, FRITEIS HRL1-605RE Fif A 60AHIAHI 1002,
HMRL1-60 (FKEE)1002, FRRITEIS HRL1-60MIEEHT=RKEE1002

A-559



TENGEN =*: KIEB=S

oo
H

RL1 2 51 82 7E T AR
RL1 RIS U SRR - A HE 2

r <
, o
| -
i —~
, =
=
7 =
7 < g2
=
B
B
% (S
U ] =
\ LA \
| A1 1
A , s E
I 2
] i W
|
1 >
| 1 = - LT 1] j
= ] \\\\ L&A \\f\
\\\ \\\nu \
LT L+ p: 5 7 )
i S T [
\\\\\ |+ = 1] \\\ \ f \\
| LT LT 7
|+ L1 MU\\ \\\ \\ g )
gl [ L+ B pstd
o L1 il
g 1
llllllll —TT] | 7_0
LR %< e i )
———H —] L i = 7 g
I L =
||..||.|\.|..\|\\\\ ] 7
T T+ I A ,
\\‘\\\\\ 3% ait
= — = | —1TT+ \‘7 \\\
T 2NN ol 7 <
— \\\\\\\\ I\Am.\\
LT T 7 \
i iips [+
HEmiiiE Sl | 1] \\\\ L1 o~
1z, \\\\
o = ! E
(=)
, -
I
7\
. I
=1 \+
‘l\\l\\“ 7
7 -
|
S <+ N
=} > < o~
) I S =) A
= o ¥ o~ 2 P
> ¥ N o
S) (] -
(S) ¥l e B Y )




